
Ableitungen bestimmen 

 
Gesucht wird die erste Ableitung folgender Funktionen: 

a) f(x) = x3 + 2 
 

b) f(x) = 4x2 – 2x + 5 
 

c) f(x) = 1/3x4 – 2/5x2 + 3x + 7 
 

d) f(x) = ax4 – bx2 + c 
 

e) f(x) = √x 
 

f) f(x) = ସ୶య 

 

g) f(x) = ଷହ୶ర 

 

h) f(x) = √଼୶య  

 
i) f(x) = x4 + 1/x2 

 

Es gilt allgemein: f(x) = xn fl f‘(x) = n ÿ xn-1 

 

 

 

 

 

 

 

 

 

 



Lösung: 

a) f‘(x) = 3x2 
 

b) f‘(x) = 8x – 2  
 

c) f‘(x) = 4/3x3 – 4/5x + 3 
 

d) f‘(x) = 4ax3 – 2bx + c 
 

e) f(x) = √x = x1/2     (n = ½) 

f‘(x) = ½ ÿ x-1/2 oder f‘(x) = ଵଶ୶భ/మ = ଵଶ√୶ 
 

f) f(x) = ସ୶య = 4x-3  (n = -3) 

f‘(x) = -12x-4     oder   f‘(x) = -	ଵଶ୶ర       

 

g) f(x) = ଷହ୶ర	= ଷ	ହ			ÿ ଵ୶ర = 	3/5 ∙ xିସ 

f‘(x) = -12/5∙x-5      oder   f‘(x) = - ଵଶହ୶ఱ  

 

h) f(x) = √଼୶య  = ଼୶భ/య = 8x-1/3 

f‘(x) = -8/3∙x-4/3 = - ଼ଷ୶ర/య 
 

i) f(x) = x4 + ଵ୶మ	= x4 + x-2 

f‘(x) = 4x3 – 2x-3 oder f’(x) = 4x3 - ଶ୶య 


